[ normalized x? probability |

0.07

0.06f--

0.05f--

10°F 0.04
: 003 -------------------------
107F
F .00 M-yt
10°F
E 0.0.
S 9 It i
g -] HHnH-
o. R R SRR SETY EEE EEECEE 0.9 :
o 0 2 4 6 8 10 12 14 16 18 20 0'80 0.1 0.2 0.3 0.4 0. 0.6 0.7 0.8 09 1
X Prob(x?)
mmme= DQM_mkFit_TToriginal
e DQM_mkFit_TT_JanUpdate-noErr
wmmm= DQM_mkFit_TT_JanUpdate-noErrlH
c ~ 5
< F gk :
2 4sfF ~ AT E T R
- E N A
< af | -
v E o E 1
39 o i 1
3f Voo - {----
2.5F- oF- R
2 - :
E E b 3
1.5F I o
£ SE- fooees
0.5F 4 g
o O T o SET o
& 1.05F ! § 1
fI 2P X osf
005 4 0.6F
T=3 -2 -1 0 1 2 3 -3 - 0 2 3
n TP n (PCA to beamline)

< x2/ ndf >
< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

-1
AR(track, je:‘LtS)

G
S E N
A 4E- Hid- -k
o F :
£ 3F {14-
o F !
o 2f- ;
v E 1|
- :
oF-- i
S il
-af- f
R AN B EERY | T
o =5F lif i i
g
05F H i




	Contents
	Page 1


